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I can say, B’sooloh is for a G’zayroh Shohvoh  — MW 79913% 7902 xRy

Overview

The X723 asked how does X2°Py "1 know that JwIR X2 WK is written” for a 7w 771, and
72102 is written to exclude a 79w31 from 03P, perhaps it is the opposite; meaning that 75102
18 written for a w"u,“ and 7wIIR XY WK excludes a 7wIANN 70IRNIW 73 from receiving
017.” Our MooIN clarifies what exactly is the w".

- 19103 ywnTa Snhiwa ynI X9
And we will not exclude a 721w2 from receiving 03p, as it seems shortly in the xn -

mooIn clarifies the proposed 7w17 of ¥":
- anont "oipt XNNP 19N 135907 SNt XIPN MY 1991 W1 RIPY %397 AN

It appears that the X713 asked that »'' should expound the @''13 of 77102, from the
oD which is required (according to the Xipon) for itself, which is the first 72 by

nnen and the word 79102 by [o1p] D187 -
= 939 DIYY XD MY NN NOYUIPNRY 7Y XD 113‘\1715‘\3 NINY VT MIINAN YaN

However the word m»ina7 7mn3 is expounded regarding the 712105, which is given for
mvn2, and it is not possible to expound it for a w''13 and not for any other inclusion —

Moo responds to an anticipated question:'*

" This is bracketed for it is a 2°3w> DO as indicated at the end of this Mmoo

? 12,20 (X¥n) 0127 This P10 is discussing a case of a 7212 771 0n. It reads; TN N WK A9IN2 7793 VR KED? °3
IRERD) ARY 22 AYOn.

3 1t states WX X WK by a 01X and it says AWK X2 by a non (in 1,25 [Dwown] Mrw) we compare them to each
other and derive that in both cases the 01p is fifty o>2pw.

* The word 702 is written (by tixn and) by non (as well).

> This would then contradict the ruling of ¥"9 that a 7w N1 TOIRNIW 77w receives OIp.

% Just as we say in the accepted version of ¥"3 that since 7w X is required for a w"t we do not exempt a 7773
TwIANN A0IRMY from receiving 1P (even though the 77N writes that 031p is paid (only) to a qwIIR ROW 7)),
similarly in the proposed w17, we should also say that since 7712 is utilized for ", we cannot exempt a 7292
from receiving 01p, even though the 770 explicitly states that (only) a 79102 receives 03p

7 See the X immediately following; 791 *InE K (7912) X 191 79102 191 7w 191 X12non. The Xn rejects the
proposed Xwn7, for how can we include a 72w1 in 01p, since 7191 *INw°X; indicating that in the question we assumed
that a 792 should receive 01p.

¥ '79913%7 seems to mean the word which according to the X1pon is needed (not for any type of w27, but) for the
actual ruling that the rule of (01R21) In97 is by a 72112 only, and not a 721w2.

? moon refers to DKM as 0p. See previously X2 7"7n 2,7 [TIE footnote # 4].

10 Regarding ninon the 770 (in 10-10,25 [D°wdwn] Maw) writes, T3777 M) ARY 22¢) IR XD WK 702 UOR 0D 0 W0
nn2T 17k PpYh Ao T2 ARNY AN IR I8 OX TV AWK i9. ND0IN is saying that the proposed W' is from the first
word 72102 (in 10 7109), not the word M>1n277 (in 10 7109).

' See previously X,’ the N2 which states; X% ,712 MINAT AN NMANA NN 7T KPW ,MAINAT M NP 702
77107 A AWK N2IN35 0% 1010, The word m7n2 is utilized and is therefore not available for a w"ra.

"2 Granted that m%1n2 is required for 12102 N3, however why cannot we utilize the 7' of n¥21n271 for the W', since
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- mnsm PIRY 23919 10 ¥ nu 1INY 23505 P1n MDINaNT /) N9¥IN 1Y ) AN
So we have mwa77 77v1 w1 and the '77' of N0 which are seemingly superfluous, one

for 2y IRY *2v17 and another for NINvM2Y IR 2975 to review -
- 5n9337 7993 999 MINANT /1 19939 /) KXY

So there are three inclusions, the '7' of nY?3n277 and 79wam 79w 9 -
- 21579991 1INY 22991Y 1M AW 225N0Y 1M ranTay 1n

One is for the teaching of 2R, one for 7wy °2v°1 and one for NIN>121 IR 227 —

mooIn concludes what he began that the proposed w"13 is from 712103, but not N n2-17:
- Y9197 X001 NYIYA DIYNI 19 BR MY N1 K2 799935 1A NAPY $295 NIIN INT

For if ' would have one 77102 for itself; not for a @''sx (for he will utilize m%1n277 for
the w"m), in that case we should exclude a 792 from the word 779302 which is 7993% —

Mmoo anticipates a difficulty:
- 9591394 79N 1N KIN XY DIPAT 23 YY IN)

And even though that by [o17] 2i8» there is only one m2n2 for itself, so we cannot
exclude 772 —

mooINn responds:
- 2 ahya N9 1IN 99953 ANaNT MY NN

We will still derive 57972 891 2903, even by 01X, from s1no», through the @'t of 702 -
$(P ans oW maoin) L[NNONI 29N NIT NIV PIYY DNIND NN 42957 9390 95

Just as we derive 7no» from o1 regarding that she must be a 791, which is not
written by 7105, The same would be regarding a 7212,

seemingly it is superfluous.

"> We are including in the 03P 211 cases where the woman is forbidden to him by either 1IX? *2»n 7wy *2»n or even
mn 3 °2m, even though he cannot fulfill the rule of AWR? 7°0 XY (meaning 17 7K1 AWK).

' If we maintain IR 32712 PO9IN PYITR, then 1IX? 20 and AWy 21 can be derived from one 79, since by both
of them °0910 PYITP.

15 If we maintain PIRY 27712 1PODIN PYITR PR, then 1IXY *271 and NN °2°°11 can be derived from one 71°5.

' See the Xm3 previously on w"¥7,2,03.

' See later on this 7my that we derive from 7737 *28> 101, but not 7na *2XY; if she dies there is no 01p payment.

18 This is following the view that "X °2>112 1°0910 PWITR PX.

' However we cannot say that, since from the X it is apparent that according to the proposed T»*% we would not
exclude 177w3 from receiving a 03p payment. See footnote # 7.

20 Perhaps the w"m is from m?1n27 27, and nevertheless we will not exclude a 77Ww3a (as can be inferred from the
X713 [see footnote # 7]) by Dikn, since there is no extra 77102 by 01X as there is by ninon (where we will exclude a
721w3). The one time 72103 is required for the w13 of M?N27-721n3, and we will not exclude a 77192 by DIR».

2 We cannot say that the w"1a is from 2127, for then we would exclude a 772 from receiving 01p, both by non,
where there is an extra 7712 (to exclude 7Ww31), and even from 0iR», because we would derive the exclusion of a
721 from this very same "1 Just as by non we exclude 177w3 (since there is an extra 771n3), we would exclude
the same by 01Xn, for we derive it from a w"11 which compares 710511 0187 to each other.
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Summary
The w" is from 72302, not M?7IN2, since it is clear that according to the proposed w"t,

there would be no exclusion of a 772 receiving 01p.

Thinking it over
Why is Moo so adamant that the w"1a is from 39102 and not from M?1n2?
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